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Note .
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PAPER-I

CqYR-I

This paper contains Sixty (60) multiple-choice questions of two marks each.
You are required to answer any fifty (50) questions out of them. If you attempt

more than 50 questions, the first 50 questions you have attempted will be
evaluated. There is no negative marking for wrong answers.

Wl WAl 5O (s) atglasell uadl 2udan . udls U & dpatdl §. wuniel)

il o (uAr) uadist Guil suuat . uid A dd Mo s3di aud useieu
Gaal iyl dl diet udel WO sl % duwiiadl wad, viial yas 42 AdRq

yatis Man .

Education would be meaningful

‘when' it is crerneneerenens centric.

(A) Curriculum

 (B) Society

(C) Student

(D) Teacher

(B)
©

- (D)

The strength of project method lies
in '

(A) Social participation
(B) Collection of information
(C) Teacher’s instructions

(D) Individual engagement

- Continuous and comprehensive and

scholaristic evaluation means :

(A)
students

continuous examination

Evaluation of overall develop-
ment of students through
continuous evaluation

Paper-I—A

Scholaristic evaluation of

Physical evaluation of students
Evaluation of students through-
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4..

By using audio-visual teaching

aids :

(A) Students become 'acf.ive in.

classroom learning

"(B) Teacher beco:lhes active in

. teaching

(C) Teaching becomes effoctive

(D) All of the above

' Main objective of diagnostic test,

1S eeviieiienns

(A) to know the content weakness
of student o

(B)_‘fo know the scholastic

achievement of stllldent‘

(C) to do remedial teaching

(D) (A) and (C) both -

Who is a betiéer teacher ?

(A) The one strictly following the
disciplinary guidelines

(B) The one ‘devoting full time to
the school

(C) The one who is interested in

overall
students

. (D) The one who develops quality

leadership in his students
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‘Pl.aceb(.J’ effect means :
(A) Negative effect
- (B) ,f’ositive-eifect ‘
(C) Natural eii‘ect

(D) No effect

.- How many variables are there in

the faéto_rial research déSign of

2x3x27?
(A) two
(B) three
(C) seven
D) twelve

_In the true experimental reséz_irch

design :

(A) No ucor;trol on external

variables

(B) Less control on external

variables

(C) Control on external variables

by randomization

(D) ‘No use of randomization

Paper—I-;—A o .
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10.

11,

What is the full form of APA ?

(A) Amierican  Philosophical
Association
(B) American

Psychological

Association
(C) American Physics Association

(D) American

Association
Durihg the process of data collection
from the sample repondents', you
obtained some sensitive informatién,
what will be your ethical réspon_Lse

in this regard ?
(A) Shaﬁng the information with
family members

(B) Sharing the information within

colleégues

(C) Sharing the information with

general public

(D) Keeping the information

' conﬁdential

Paper-I—A

- Pharmacy

10.

11.

APA f i nit g 87

(A) American  Philosophical
Association
(B) American  Psychological-

Association
(C) American Physics Association

(D} American Pharmacy

Association
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12. In the historical research, external

criticism means ;

(A) content validity of documents

(B) validity of originality of
" documents

(C) to get information about

- documents
(D) to receive documents

. Read the following text and

answer the questions 13 to
18 :

The term ‘Street Children’ is used

to refer to children who live on the

streets and are deprived of family
care and protection. They live in
abandoned buildings, containers,
automobiles, parks or on street itself.
A great deal ilas been w_ritten
definin‘g street children. The
. problem is that theré are no precise

categories but rather a continuum

Paper-]—A
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13.

ranging. from children who spend
some time in the streets but
basically live at home to those who

live entirely in the streets and have

no adult care. The street children ,

live and work amidst trash, animals
and open sewers. They are exposed
to many diseases and are unlikely

to receive any medical treatment as

. they cannot Iaf'ford' doctors or _

medicine. Other major problems of
. abuse, child

labour, gender discrimination,

street children are

homelessness and poverty. How can
the civil society ‘provide such
children their basic constitutional
right to health, freedom from
violence and abuse is a big

chalienge.

The nature of the above paragraph
is

(A) Analytical

(B) Descriptive

_(C) Synthesis

(D) C.onsequential

Paper-I—A
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14.. The ter.m ‘Street Children’ is a :
(A) Coﬁcept
(B) Definition
(C) Coined term
D) Thedretical.framework

15. ‘Street Children’ in this iJaragraph

have Been painted as children :
(A) Without honI:le' an.d WithOl:lt
pareni:s ‘
(B) Working as child l.abourer
) Suscep‘tible to diseases
,'tD) Devoid of their basic right

16. ‘Street Children’ are exposed to

many diseases because :

(A) Theyh do r;ot h’ave home
(-B) They have no adult care
(C) They live near open sewer

(D) They are discriminated

Paper-1—A
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17. Choose the correct answer—

" Street children :

(A) Live secured _life

(B) They are poor but geét care from

society

(C) Get free medical treatment

D) Deprived from family. care

18. Which one given below is not correct

for street children ?

(A) They live in abandoned
‘buildings

(B) They get medical treatment

. (C) They do not get any care

)

Théy are éxposed to many

diseases

19.

In communication, attributing our

17.

18.

own thoughts and feelings to others -

is called ..........
(A) Stereo{;yping
(B) Projection
(C) Halo effect

(D) Barrier

Paper-I—A
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20. Rearrange the steps in order in  20. »lidqulBds Ueuur MBul AW

the process of interpersonal . SUHL Yel ollsdl
communication : - A '

(1), 3isd-uR
(1) Sender '

(2) s
© (2) Receiver '

(8) «zal
 (3) Message
- @) aRuNg
(4) Feedback .

. ® A
(5) Channel

NS
(6) Encoding (fi) 5;1&[3.[

(A)’ 123456 - (A) 123456
'I (B) 13I4I,26'5 - o (B) 134265
(©) 13214_6 S | (© 133146
-(D). 163524 ' - ") 163524

21. The content of communication is  21. vudl %oui .yl :

called ..cooocve  euntt Ruudgd sdaud 3.
(A) noise | @) i
(B) message | (B ¥R
(C) channel | _ (0) Ana
(D) distortion o R @ B

Paper-1—A o 11 ' [P.T.O.]




22.

23.

24

——— e .

The process by which the receiver
interprets the symbols used by the
source of n‘iessa.ge by converting
them into concept anci ideas is

called .............

(A) Encoding

(B) Decoding
(C) Listening

(D) Speaking |

. The main purpose of communication

is to impart ..............
(A) Training

(B) Information

(C) Disci}\)lilne

@) Skill .

Whjcﬁ ;)f ‘the folllowing is th;a mt;st
effective way of communication ?
(A) Verbal communication

(B) Written communication”

(C) Non-ve‘rbal‘communicatioﬁ ‘

(D) Silence -

Paper-1—A
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23.

24.
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25 Find out the next term in the

following series :
0,3, 8,15, 24 ...
@Ay 35
(B) 32
(C) 39
D 37 .

96. Find the missing number in the

following :

(A) 20
(B) 64
(€©) 59
D) 29

97.  1f HEALTH is written as GSKZDG,
then how will NORTH be written

'in that code ?
(A) OPSUI
(B) GSQNM
(C) FRPML
®) IUSPO
Paper-I—A

13

.2l Al udlu ue ONEL

38l 0, 3, 8, 15, 24 .......0...

(A) 35

(B) 32
(C) 39
(D). 37

REETTEE | BT DI CERE T

0 2 4

1 '3 5

7 9 11

0 24 ?
(A) 20.
(B) 64
© 59
(D) 29 .

. i HEALTH awiy &, 2 d

GSKZDG, di NORTH A i1 %8l s
sisel aval?

(A) OPSUI

(B) GSQNM
(C) FRPML
(D) IUSPO
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- 28.

29.

30.

(B)

If L stands for (+), M stands for

(<), N stands for (x) and P stands

for (+), then 14N 10L '42P 2M

8 =72
(A} 153

(BY 216

- (C) 248
(D) 251

' A person’s age is 3 times more than

- the age of his friend. The total of

their ages is 64 years. Find thé ages
of the person and his friend :

" (A) 48, 16

(B) 16, 64

- (C) 64, 16

Dy 22, 42 .

fA+B)>(C+D)and B + C) >
(A + D), then it is definite that :

(A D>B

C>D
(C) A>D

M) B>D

Paper-I—A _
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(A) 153

(B) 216

- (©) 248

29.

30.

(D) 251
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(A) 48, 16

 (B) ' 16; 64

(C) 64, 16 -

(M 22, 42 -

RA+B)>C+D)31 B+O) >
A+D),dlau B y:

(A) D>B
B C>D

C) A>D

-tD) B.>D.



31. In the following question there is 33 {31 wai el U U il A

a certain relationship between two
" given words of one side of : : and one

word on the other side of it, choose

the correct alternative :

Aryabhatta : Mathematician :

Varahmihira :

?

(A) Physician

(B) Astronomer.

azd B Aeiu B, 217 ol Uy s Uk

U 20 9, 2ild Al el Fu

-

l;ll%ltﬁli . oBidat ¢ : azleBRR ?I_
A clRsa

(B) vidliars(l

(C) Scientist (©) Aaufs

(@) Architect . D) wdlse | |
32. Study th:(e diagram below and 32, 13 éicda Rl eu 531 24 A da

identify the region representing sauldl oul Toror2 st yaurll & vt dadl

youth \‘ath are employed but not- - [BiEd =4l -

educated :

(A) 4 only
. (B) 5,6
©) 1, 4,7

D) 4,7
Paper-I—A
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© 1, 4,17

(D) 4,7
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33. The question below consists of two,

statements numbered I and II. You

‘have to decide whether the data

provided in the statements are
sufficient to answer the question.
Read both the statements and é’ive
answer :

(A) 1f the data in statement I alone
is sufficient to answer the
questlon, while statement II is
not sufficient

(B) if the data in statement II
alone is sufficient to answer the
question, while statement I is
not sufficient

(C) if the data either in statement
Ior Il are suf’ﬁcien}: to answer
the question

(D) if the data"given in both the
statements I and II together

are not sufficient to answer the
question
How is Tanya related to man in
photograph ?

(I) Man in the photograph is the

only . son of . Tanya’s
grandfather

(II) The man in photograph has no
brothers or sisters and his
father is Tanya s grandfather.

16
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34. How many triangles are there inthe  34. DAl Bl 32al Busia &7

following figure ?

A) 6
® 10
© 1
D 12

35. In the following question, fqur
words have been given, out of which
three are alike in some ﬁanner and
the fourth oné is diiferen.t._ Choose

the odd one.
(A) Veena
(B) Sitar
(C) Drum
(D) Guitar

Paper-I—A , ‘17

35.

(A) 6

(B) 10

(C) 11

D) 12
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36. Inthe question below, there are two  gg (|31 wariny & Fliﬁ-ﬁ (A) = £1dl 219

statements labelléd as Asseftion (A)

. and Reason (R). Mark your answer

as per the code provided below :

(A) Ifb;:)tb (A) and (R) are true and
(R) is the correct explanation
of (A)

(B) Bc;th &) and (R) are true but
(R) is not the correct
explanation qf (A)

(©) (A) is Itrut_e‘ (R)_ is false

(;5) (4) is false (R) is true

Assertion (A) : Indian President

is the head of country.

~ Reason (R) : Indian Parliament

consists of the President, Lok Sabha

. and Rajya Sabha.

Paper-I—A
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37. The bar graph given below shows

the percentage distribution of total .

expenditure ‘of a company under
various expense heads during 2015.
Study the graph and answer the

questions that follows :

25+
: 20
w2 207 20 —
S8 _ 17.5
% 151 - |
2 _ 12.5
S a1 10
| EIO
5L F]
0 o ¥ = o + z, w
'5 e o % °35 o 5
: 2 7 & SgE = <2
5 ¢ 8 B g3 ¢
2 & 8 50 g
2E f gt 3
& . ¢ A &
5 s . 2
< g

The expenditures on the interests
on loans is by what percentage
more than the expenditures on

transport ?
&) 10%
(B) 20%
(C) 30%

D) 40%
Paper-1—A
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15 12.5
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10T ‘
. 5
5.. . |__|
0 @ " owm w - L w
EE £ gwF B8
- juB >} ® a0 — [=)
5 & 8§ FRA & |
E§ g 5% ¢
o ; et LB -
o T Q2 @
s 9_;’ _Cdg o
5 5 -9
< ks

el Al 2+ WAl Sl et W el

wal Yol daul 97

(A) 10%

- (B) 20%

(C) 30%

D) 40%
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38. The following pie-chart shows the

sources of funds to be collected by
the National Highways Authority of
India (NHAI) for its phase-II
projects. Study the piechart and

answer the question that follow :

FUNDS. IN (Crores Rs.)

External
Assistance
11,486

Paper-1—A

Market borrowing
29,952

Total. funds to be arranged for

projects (phase II) = 57,600 crores.

The approximate ratio of funds to
be arranged through toll and that
through market borrowing is :

Ay 2:9
(B) 1:86
(C) 3:11
® 2:5

38.. “ala wlS5A 2R eisiar wtid, A

oteldet 62 cotsst ange uduai salda

8, Ad vewn s waol A

Assistance
11,486

20

Market borrowing
29,952

ol ciolssirl i A%l W2 4o §6+

| Q= 57,600 5RUS.
W52 A oA A wuuld eglét’tuz
& : |

A) 2 29

(B) 1:6

© 8:11

D) 2:5



- 39. A researcher wants to study the

40.

41.

®

association between gender and
using a mobile phone. Data collected
for this study will be

-------------

(A) Quantitative data

(B) . Qualitative data
(C) Continuous data
(D) Classified data

A Government agency responsible
for collection of various types of data
in India is CSO. What is its full

form ? =
(A) Central Statistical Office

Central Statistical Organi-
- sation

(9]
D)

Central State Organisation

Central Staff Organisation

In order to show the strengths of 41,

PG and Ph.D. students in TEN -

different institutions of a state, most
suitable diagram will be : -

(A) Pie chart

(B) Two pie charts

(C) Multiple bar diagram

(D) Two Multiple bar diagrams

Paper-I—A
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(A) WS wWén

(B) & WS »udw
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42. The following table gives the

42, D3 solda duenl, Win A P, Q, R,
percentage distribution of five . _ ' .
states : P, Q, R, S and T on the basis S_ i T g 2staudl [aza aRloll 2w
of poverty line and also on the basis 2o [ 24163 55' D 2L 20ieid e
of gender. Study the table and R '
answer the question : 530 el WML
% of - Proportion of Males and Females
| State Population Below Poverfy Line | Above Poverty Line
Below Poverty line M F . M " F
P 35 5 6 6 7
Q 25 | 3 5 4 5
R 24 1 2 2. 3
s 19 3 2 4 3
T 15 5 3 3 2

What will be the number of females
above poverty line in the state S if
it is known that population of state
S is 7 million ? ‘
(A) 3 million
(B) 2.43 million
(C) 1.33 million
(D} 5.7 million : -
. Paper-I—A : 22
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43. Created by _Kevin Systrome and
~ Mike Kriger, this app was acquired
by facebook in April 2012, what

it is ? '

(A) Twitter

(B) Instagram

- (C) Whatsapp

(D) Linkedin ‘

‘NPTEL’ a project funded by MHRD,
Govt. of India represents ...............
(A) National-

Technique of Educational

Productivity

Leadership
(B) of

Telephone Emergency Locator

National Programme

(C) North Province
" Education Library

National on

(D) Programme
Technology Enhanced Lear-
ning

URL. provides

hierarchical waj of identifying and

a standard

45,
locating internet resources on
World Wide Wave (www). What
does URL stand for ?

(A) Uniférm Recurrence Locator
(B) Ijniform Resource Locator
(C) Uniform Remote Locator
(D) Uniform Revised Locator -

Paper-I—A
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" 46.

47.

49,

48.

It is a unique numeric identifier
used to specify a particular host
computer on a particular network,
what it is ? |

(A) LP address
(B) UP address
(C) .IP address
D) IL address

This symbol was introciuced by
Ray Tomlinson in 1971. What
it is ?

A !

"®) % -
© $

D) @

HTML stands for :

(A) High text markup language
(B) Hypertext marketing language
(C) Hypertext makeup language
(D) Hypertext m_s;fkup language

Which plant is used in biodiesel ?

(A) Palm ftree
(B) Jatropha |

(C) Coconut tree

(D) Eucalyptus

Paper-;—i—-A
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50. Global environmental problem is

mainly due to : -

(A) Climate c}‘xange .
(B) Increasing population
(C) Rising temperature
(D) Melting of Iceberg

- 51. Pesticide fertilizer causes which

. pollution ?

(A)- Air pollution

(B) Water pollution

(C)‘ Soil pollution

D) Qil Ipollution '

Lead tetraethyl is added tcl)‘gasoline

to make :

52.

(A) gasoline thin
" (B) to increase its speed
(C) to decrease fumes
(D) because of antiknock property

Which will not come under natural_

hazards ?

(A). Flood

(B) Volcanic eruption

(C) Earthquake

(D Plaﬁe crash
Paper—|—A |
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54, Which is not true for disturbing

55.

56,

57.

®

natural environment 7

(A) Deforestation

(B) Afforestation

(C) ‘Development of coastal zones
(D) Urban develoiament

Which one of the follo'wing‘is a

Women’s University ?

" (A) Gujarat University

(B) Gujarat Vidyapeeth

(C) Banasthali Vidyapeeth -
(D) Sardar Patel University
Which of the folloWing was declared

as an institution of national

importance in India ?
(A) National Institute of Deisgn,
Ahmedabad

Institution of Rurai Manage-
ment, Anand |

(C) Pandit Deendayal Petroleum
University, Gandhinagar

(D)

Entrepreneurship Develop-

_ ment Institute of India, Gandhi- '

nagar
NCTE is responsible for the quality
of covvennn. .. in India.

Technical Education -
Teacher Education

Computer Education

cation

~ Paper-I—A
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58. What is the full form of NEET, an

- - L] - . -
examination for adminion into

59.

60.

Paper-1—A

(B)

- (D)

medical courses in India ?

(A) National Employment Emer-

gency Test

Entrance. Test

(C) National Entrance
Eligibility Test

(D) National Energy Efficient Test

What is the full form of NAAC ?

(A) Authority
. Assessing Colleges

National Accreditation Autho-

rity Council

National for

(B)

(C)
Accreditation Council

Dy
tation of Colleges :

Which Educational institute was

declared the best in the over all

India rankings 2017 ? .

(A) The Maharaja Sayajirao
University  of Béfoda,

~ Vadodara

(B) Banaras Hindu University,

Varanasi | ‘

© Indian Institute of Science,

Bangalore

Indian Institute of Manage-

ment, Ahmedabad

and

National Assessment and.

National Agency for Acc_:redi-_

National Eligibility cum

88.

59,

60.

27

(©

- (D)

NEET o iyel <5t g 87 % euxdui |

ABsa siel-i uAn w2l A B

(A), Aard Swueiiudve Nug-ll 22

(B) Aurtd NRABBRA 54 Apray 22
(€) Astrie Avped wA ARBBRL S22

D) A A AdlRd-e e
NAAC 4 Ayel un g 872

(A)
(B)

A 208 512 sudld sides

AU HUAA2 w4 A S
s1G-={la

518% _
58 Qaldis dzen Ayel ecurcmi 2017 xi
AU W N8R saei wdl 97
(A) Mol wwwd ghqﬁiél 214
8R0Sl, aSiER -
B) eu R+ QraRemay, ARl
(C) Slsu- Sl=ezeye ais wa-u,
el -
D)

BEHELALE

[P.T.O.]

e ASBAA AARA 516D

e Ayl 51 AS3Ad ils

Slesuqt dlFeeye 2ils Adwi-2




ROUGH WORK
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